A7uy’ B TR A2
x & % -
MR F—I A son| B | | mex ,ﬁ'ﬁ{fg
ZR=V 2 Bb| SBIR R RMR [ APAR—HE| K2R
| |—motenx 0000 @ |000% ®|0000 ®|00o%x ®| 16 | 16 | 0 | 1.000 | 4
9 |WiNNERs 0oe  |oocox ©|oooce @|oe 13]10] 3 | 0769 | 4
3 |77 tva—t ce oe 0e 0oox @| 10| 7| 3 | 0700 | 9
1 kNS4 ce 0oe  |ooe  |ooe 1| 7| 40636 | 4
5 losvsEareys— 0000 @ |oe ocoe |e 10| 6| 4060 |3
6 |tiEa7==yr2 000  |® o® o® 8 | 4| 4 |o0500 | 7
6 |4rmiry7ig—nrs7|00 ° o® 00® 8 | 4| 4 |0500 |10
8 |y m—t  |e 0oe  |oe ° 71 3| 4 | 0429 | 2
9 |lrmg—nza—x 0@ n ° o® 6 | 2| 4033 |11
10 [fra1—=2 @ oe ° ° 50 1] 4020 |1
10 [@twotoax @ ° ° o® 50 1] 4020 |11
10 [#ilIFASBC ° oe ° ° 50 1] 4 (020 |11
13 rrr 15—z |@ n ° ° 1o 40000 |7
13 [y 7= ° ° ° ° 41 o] 40000 |11
13 [uamrrta—=  |m ° n ° £ 1o 40000 |BI
13 [7ra15—% ° ° ° ° 4o 40000 |BI
(AL #] O= O=Ful  A=HEn
o- A=l

-/

KEARBM
SR DV— NV V6 TEHIZ X B 1 g
i3 @ = eI

—

P
£ W =1k
UN

e %

15




20244 KPR
B7uy7 B TR A2
X & % .
MR F—I A won| | & | mex ,ﬁ'ﬁ{fg
ZR=V 2 Bb| SBIR R RMR [ APAR—HE| K2R
1 |isc c0a |loom® [po® |ooo® |1 |10 1| 099 | 3
9 |z 0A0 ® |oDe  |e oO® 9 3 | 0667 | 11
3 |hrRsT7 coe @ |oom @ |e oO® 9 4+ | 0556 |Al5
1 |Rsc 0e o® Om om 8 4 | 0500 |AI5
4 [m—Lra—tEos  |e n ne ® |oooe @f s 4| 0500 | 8
6 |7-3—= oe ° om o® 7 4] 0429 | 7
7 [eeavii=yy 0@ ° om ° 6 4] 0333 | 5
8 |zmrBowWiES  |@ oe ° ° 5 4 | 0200 | 4
8 |Ems—zzy ° oOe n n 5 4] 0200 | 6
8 |wirimeay7iE—L m 0e n ° 5 4| 020 |11
11 |[mss a2 |m n 2 2 | 0000 | 8
11 |[757—7n—vvr2|@ ° ° 3 3 | 0000 | 11
T ¥
1 |BAMBOO O ® O ®Q o ® 4 1| 0750 | %
2 g Tir—nrs7|@ @ ®Q o ® 4 3| 0250 | 1
CA B 1 O=B  O=Ff&l A=
o1 W= A=t
[— )= K&RB
Y= KAHEIL—NIE6IEIZ LA BN
O={El  @=emEm




